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- LoRa Node Configuration

LoRa Node Configuration

LoRa «  Frequency, Preamble, Syncword & & (Peer Node?t S 5tH & &)
+  Coding Rate, Output power & &
LPP * PAN ID & & (Peer Node2t = &)(at+paid=xxxx)

*  Probe period = O(Node : & &)

*  Probe period = 1000~12500(Node: battery, SFE & &)
* Radio Always on = on(at+raon=1)(Node: & &)

+ Radio Always on = off(at+raon=0)(Node: battery)

*  Retries = 3 (at+rtry=3)

«  Sender Init Tx = off(at+seit=0)(Peer node: battery)

« Sender Init Tx = on(at+seit=1)(Peer node: & &)

SF & LPP Timer &7

SF7 «  Tx Timeout=400, Ack Wait=50, Probe Period=1000, Listen Timeout=1100, Data Wait=500

SF8 *  Tx Timeout=750, Ack Wait=90, Probe Period=2000, Listen timeout=2200, Data Wait=900

SF9 *  Tx Timeout=1000, Ack Wait=120, Probe Period=2500, Listen timeout=2800, Data Wait=1100
SF10 *  Tx Timeout=2000, Ack Wait=250, Probe Period=5000, Listen timeout=5500, Data Wait=2200
SF11 «  Tx Timeout=4000, Ack Wait=500, Probe Period=10000, Listen timeout=11000, Data Wait=4500
SF12 *  Tx Timeout=5000, Ack Wait=1000, Probe Period=12500, Listen timeout=14000, Data Wait=5500
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- GW Configuration - LoRa Node Configuration
Gateway Configuration LoRa Node Configuration
LoRa «  Frequency, Preamble, Syncword & & LoRa [ ¢« Frequency, Preamble, Syncword & &
(LoRa Node2t = otH & &) (GWSt S2otH &H)
*  Coding Rate, Output power & & *  Coding Rate, Output power & &
LPP « PAN ID £ &(LoRa Node2 =g)(at+paid=xxxx) LPP « PAN ID &3 (GW2 =2)(at+paid=xxxx)
*  Probe Period = 3000ms(at+prpd=3000) *  Probe Period = 30000ms(Node: battery)
. Listen Timeout = 10000ms(at+Itio=10000) . Probe Period = Oms(Node: & &)
« Data Wait = 500ms(at+dawt=500) e Listen Timeout = 5000ms
* Radio Always on = on(at+raon=1) + Radio Always on = on(Node: & H)
«  Retries = 3 (at+rtry=3) « Radio Always on = off(Node: battery)
« Sender Init Tx = off(at+seit=0)(LoRa Node: battery) * Retries = 3
«  Sender Init Tx = on(at+seit=1)(Lora Node: & &) e Sender Init Tx = on

SF & LPP Timer A%

SF7 ¢« Tx Timeout=400ms, Ack Wait=50ms (at+ttio=400, at+acwt=50), Data Wait=500ms
SF8 *  Tx Timeout=750ms, Ack Wait=90ms, Data Wait=900ms

SF9 *  Tx Timeout=1000ms, Ack Wait=120ms, Data Wait=1100ms

SF10 *  Tx Timeout=2000ms, Ack Wait=250ms, Data Wait=2200ms

SF11 *  Tx Timeout=4000ms, Ack Wait=500ms, Data Wait=4500ms

SF12 *  Tx Timeout=5000ms, Ack Wait=1000ms, Data Wait=5500ms
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